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Werkblad
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7 2+6= 8 1+5= 6
17 12+6= |18 11+5= |16
23+4=- |27 22+6= |28 2l1+5= |26
&
2+7= 9 4+ 2= 6 1+8= 9
12+7= |19 14+2= |16 11+8= |19
22+7= 29 24+2= |26 21+8= |29
&)
<Z>8—3: 5 .6— = 5 4 3= 1
18-3= |15 16-1= |15 14-3= | 11
28-3= |25 26-1= |25 24 -3= |21
@)
h-2= 3 9-7-= 2 7-3= 4
15-2= |13 19-7= |12 17-3= | 14
25-2= |23 29-7-= |22 27 -3= |24

Welk teken is juisT,@ of @ ?

4(+)3 = 7

®

3(+)2 = 5 9(-)4 = 5
9(-)6 = 3 15(-) 8 =

12(+)6 = 18 12(+)10 = 22
28(-) 4 = 24 3(+)15 = 18

De oplossing en zeer veel andere werkbladen om gratis te downloaden:

www.aduis.nl. Neemt u een kijkje.






